

$$\textcircled{11} \quad a \sin \theta + b \cos \theta = c \quad \text{to prove } a \cos \theta - b \sin \theta = \sqrt{a^2 + b^2 - c^2}$$

$$(\text{given})^2 + (\text{TP})^2$$

$$= (a \sin \theta + b \cos \theta)^2 + (a \cos \theta - b \sin \theta)^2$$

$$= a^2 \sin^2 \theta + b^2 \cos^2 \theta + 2ab \sin \theta \cos \theta + a^2 \cos^2 \theta + b^2 \sin^2 \theta - 2ab \sin \theta \cos \theta$$

NCERT Exemplar Solutions by Dev Anoop (Bathinda)

$$= a^2 (\sin^2 \theta + \cos^2 \theta) + b^2 (\sin^2 \theta + \cos^2 \theta)$$

$$= a^2 + b^2$$

$$\therefore (a \sin \theta + b \cos \theta)^2 + (a \cos \theta - b \sin \theta)^2 = a^2 + b^2$$

$$c^2 + (a \cos \theta - b \sin \theta)^2 = a^2 + b^2$$

$$\Rightarrow (a \cos \theta - b \sin \theta)^2 = a^2 + b^2 - c^2$$

$$\Rightarrow a \cos \theta - b \sin \theta = \sqrt{a^2 + b^2 - c^2}$$

$$\textcircled{12} \quad \text{LHS} = \frac{1 + \sec \theta - \tan \theta}{1 + \sec \theta + \tan \theta}$$

$$= \frac{(\sec \theta - \tan \theta) + (\sec^2 \theta - \tan^2 \theta)}{1 + \sec \theta + \tan \theta}$$

$$= \frac{(\sec \theta - \tan \theta) + (\sec \theta - \tan \theta)(\sec \theta + \tan \theta)}{1 + \sec \theta + \tan \theta}$$

$$= \frac{(\sec \theta - \tan \theta)(1 + \sec \theta + \tan \theta)}{(1 + \sec \theta + \tan \theta)}$$

$$= \frac{1}{\cos \theta} - \frac{\sin \theta}{\cos \theta}$$

$$= \frac{1 - \sin \theta}{\cos \theta} = \text{RHS}$$